Identidades Trigonométricas
1
1. csc(z) = n(@) 2.
_ sin(x)
3. tan(z) = cos(2) 4.
5. 1+ tan?(x) = sec’(x) | 6.
7. sin(—z) = —sin(z) 8.
9. tan(—z) = —tan(z) 10.
m .
11.  cos (5 - x) =sin(x) | 12.

Fundamentales
1
sec(x) = cos(x)
_ cos(x)
cot(z) = tan(x)

1+ cot?(z) = csc?(x)

cos(—x) = cos(x)

. ™
S

——z
tan (g - m) = cot(x)

5 ) = cos(x)

Férmulas de Suma y Resta de Angulos

1. sin(z+y) = sin(z) cos(y) + cos(z) sin(y) | 2. sinz —y) = sin() cos(y) — cos(x) sin(y)
3. cos(x +y) = cos(z) cos(y) — sin(z) sin(y) | 4. cos(@ — ) = cos() cos(y) + sin(z) sin(y)
5. tan(w +y) = 1tint(:r)1(jr_)t?;1r(12) 6. tan(z —y) = 1%%3&)?25@)

Identidades de Productos
1. sin?(z) = % (1 —cos(2z)) 2. cos? (z) = % (1+cos(2z))
3. sin(x) cos (z) = %sin (22) 4 sin(z) sin(y) = % (cos (z — 1) — cos (z + )
5. sin(x) cos (y) = % (sin (z — ) +sin (z +y)) | 6. cos(x) cos(y) = % (cos (2 — ) + cos (z + )

Foérmulas del Doble de un Angulo

sin (2x) = 2 sin (z) cos (z)

cos (2x) =2 cos® (z) — 1

cos (2x) = cos? (x) — sin? ()
_ 2tan(x)
tan (2z) = Tt (2)




